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Part -1 | R L L
ml,mm A) |,cg,¢‘;/f§m B) pleasure /84
i 7 !
Question Nos.1 to 9 B Money / q’;,ﬂ \9/ Coeae/ AT
i B RADLE 7 o \/
; e B
Directions / e Select the rolated word / lofters / AL ERHARE  VEPNE 7153 \\8/ _ p 3 B
number from the given alternatives. A) FVDGPH FUDGOH f\’ »\)
R v Reeal & @ wwafeve e/ gt / dear wh| | C) EVIGOF D) EUDGOH A
R
i L
1) Eyes : Tears :: Question Nos.10 to 18
yrdam & o7 gaaqr 10 # 18 a%
S B Directions / ¥&er Find the odd word / letters / number
S B K Attyy from the given alternatives,
L W ; el v o frwEgl # & vy w) e/ §eqr i)
L) Volcano : Lava D) Sea: Water 9
SarerE © wrar w4 @/ [10)
’ ',/ \“\
wale A) 6 B) 12
4"
2) 32:28:160:7 vt v C) 15 ~ P17
A) 80 140 5ol
C) 110 D) 120 (29 | 1)
(o .3
ly 16 ® 1 r A) qystuu B) mmopqq
3) 19%:256::? £ 400 N LT hacd(f D) ggijkk
A) 452 B) 144 1
C) 204 324 (W 7% 12)
() A) PONM \_ByFTKL
4) 414:636::325:7 o C) DCBA D) HGFE
; o
A) 636 B) 414 wb'
C) 222 D) 547 6\“ 15 13)
i A) 734 B) 532
5) JAF|: 13 {DDA : ? K 4 S5 D) 853
N
12 B) 24 "
C) 21 D) 22 14)
Ss @11,? A) 5725 \/Bﬁsm
6) FE:HG:ML:? C) 3463 D) %948
I g 13 @ ’ H/
A) i B) QP % %)1
C) PO D)y ON 5)
7) Perch: Fresh water :: ? : Salt water C) VUXW D) QPSR
Fas ; HreT U o ? ;0 @RI 9T
16)
K Crocod B) Frog/
Crocodllc'/ HIRAZD 5 rog / A A)_HGF af-dab
C) Snake /@ Cod / ¥1g #ieT i NPR D) DCB
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17)
Caprice / HIS B) Foible/ gsrorar
C) Whim / g5 D) Quirk / FfRrsear
18)
A) Plump / MA-Herer “B'){athom/iﬂ?
C) Thick / #Yer D) Solid/ar

19) If'Stress' is coded as Rtress. Then 'Pulse’ will be coded as-

e 'Stress' &Y Riress ToI@r 1T &Y 'Pulse’ F Y FRT

o Smeem
A) Qulse B) Fulse
C) Rulse vm/oflze

20) Ifa mirror is placed on the line RS, then which of the answer
figures is the right image of the given figure?

Ifg T gdoT A RS W W @ S ar & T el

it # & PA-A W 997 S A TE
gfafass grfe
R S

Al

5
21) Arrange the following words as per the reverse order in a

dictionary.

frFfaf@a eel # A # fAwlia &7 A
egafeya fifav

1. multitude 2. multinational
4. multinomial 5. multilingual

A) 13245 B) 45321
13425

C) 54321
3¢

SEN=]
e
X

B) C)

3. multiplier
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22) A piece of paper is folded and cut as shown below in the
question figures. From the given answer figures, indicate
how it will appear when opened.

A oA it F @ 3FET FrsT T ABHT
FeA qUl @e & a1 98 R Seal AT ST

ferarg am?

s }

B
<>K><>

R O<>F Qi

wl

By
g Br‘
23) I + stands for division; x stands for addition; — stands for \a‘/\
multiplication, + stands for subtraction, Which of the i
following is correct? (qu
M+ FRATE xFMFRATE ; — AT F
fow §; + oo & v g af Awafdfaa & = ’V’b
e
L 82 mE, 5 e ;
3)25)(3"“7‘-‘ 8+12=18 e 6/
b)25+3x7—-8+12=10.89 T\ ’\( A G
5 €)25—3+7x8+12=132 e &6
d)2_5+§4x7—8+12:19\.;( /0‘.) - = P
A) b d 2
C) ¢ B)a- \9q:
) U+l 299 z) 4;/% d g i
PR T —L{— Q
Question Nos.24 to 26 6+g
Y7 HEIT 24 § 26 qF ﬁ
Directions / fader: A series is given, with one term 12
missing. Choose the correct alternative from the given
ones that will complete the series.
T HGHA 3T & [FaH v 9 geT & Rv aw
faedl # & a5 @dt fawey gl Ft sgEE # @r
il
21035 ¢ 1321 1040 =/
X =L
A
o g e
3t
25) 127,1 D)
) 4 31,139, 2. 151, 157, 163, 167, orl +1 =1
A) 149 B) 141 [X1+i= 2
C) 147 143 pel+1=3
L D g e
{
\B. 5
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26) 361, 2, 169, 121,49, 25, 31) Identity the dingram that best represents the relationship
- B pmong clusses glven below;
A) 2 25 : v : :
c; 196 \/D),«mf; e v alae o W fau s aalt & dvg way @
afy fveaur ween B
H(Whll P“«"(‘IN‘L‘. IHMI()ly und “"“W“I’I'Y
Queation Noa.a? to 30 gt o, giawm e s
V¥ WEAT 27 & 30 aw
Directions / A& Select the missing number from the
given responses.
Rv v Rweql & & gor s s dfav)
27) N
e
2 > 3 9
4 S 5 8 o 32) Arange the following words as per order in the dictionary,
forarfaflre ersal @) eregmer # f2u oo wa &
3 ool 2 A 3 Hagwre fovd|
R T A [, Silt 2, Silicon 3, Silicate 4, Silken
A) 11 \,aﬂn \A) 324 | B) 4132
C) 4 D) 7 C) 2143 D) 1432
28) (% 33) Which one of the given responses would be a meaningful
o q/ order of the following in ascending order?
\ Ve | for fot o e R A e g el A
i £ (,’1( IO w A areyas e geiver &7
- S 11 |.atom / SCHTUT 2, matter / 9&TeY
1 -~
K} 3. molecule / 301 4, electron / Sﬁﬂ-flﬂ’
3 o .
[~ 32 S; '7: AT 142 B) 4132
) : C) 1234 D) 3412
29) Q 0,
1
;gl‘{ % 64 P o
1612236 | [ [16] 1] [4 [15] 1 ]|
W g0l B X|. 81
Xl % < w2 a
C) 4 D) 32
-5 60 R
10, 18, 21 40 "
s St R i
A) | | B) 20
3 D) 15
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47 Which answer figure will complete the pattem in the
Judanon fgure?

W W R R § o @ @

- Vas
/’

N 8)

&8) Six faces of the dice are AB.C.D.E and F. A is adjacent to
B. B is adjacent ©o D but not C. E is adjacent to D and F.
Whatt is the side opposite 1o A?

TR ¥ ST 5% &, ABCDEIN F| A B & dg®
R DS EE e RGCF A EDIRFF
S90S Y A ¥ TR & TES _SIE-A 87

A) F ) D
Q) ¢ D) E

49) Prom the given answer figures, select the one in which the
question figure is hidden/embedded.
2 ¢ SR IR & ¥ IF oW HEA H WU
T v aee RitE 8

S | - ,M/ ‘..\.__D.).,, A—— |

A}

$B) IWARMS cgual 1234 then MARS will equal to: R I 2_ a
TR ARMS 1234 & SO & @ MARS frad X M"B < AR O

&
A @ B) 4213 S % l1
C .lm \'))’3124
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{ X -mventors B W -memans
Question Nos.51 to 60 8d)
Dimﬁons:lnﬂ)efoﬂowmgpamgesomeofme words 2 e emen
have been left out. Readthepamcareﬁ;ﬂymd ! A CE) rmgemns - -‘-—n_rr"*z- .
choose the correct answer to each question out of the N\ G (X)-mproved i oS
four altematives and fill in the bianks :
PASSAGE

Past_1_us in understanding our present world ima [l beser Quesger Mcs 3" &= 3
way.lfweknow&mnancestmﬁvedorl‘ the wars Directions : Chocse e woT IIDCSIE F TESTE T
were waged, we can understand the today’s world _V_and ger the given ward 2rd mar T e Arswer Sness
ideas fora_VI _future. What appears to_VII _as wrong today
could have been right VI _ It is alsa mteresting to know
how_DLinthepastLthcﬁfeofh‘mnzns. 61) Swexle

51) ! P R

B &==ie
A) (D-helps \_BY (I-heiped iy - o dmss
C) (I)-help D) (T)-is helping
§2) Desisc
52) A) assign B e
A) (-most B) (I-just iy AR
\})ﬂ(ll)-more D) (II)-much
63} Defile
53) A) punts B wwid
\Aﬁn}whm B) (II-how Y e ) —
C) (IlI)-when D) (HD)-why ‘
| 64) Pruden:
54) A s 8 msey
* A) (IV)-when - ooy o e A
C) (IV)-why (V) how
’ Quesaer Mes 35 @ &
55) > Qut of e fwr alEmatives ohooss e o
fest supresses e meamng O e guer wom
A) best B) (V)-well mark it ir e Arseer Stest
68) lealous
56) A) Lusciul \,./‘E:T'Dnms
\_‘(('VI)-fairy B) (VI)-fair C) Greedd DY T
C) (VI)-fairest D) (VI)-fairer
68) Dligent
57) A) Modest B imfusrees
A) (VID-us W o - C) Inmelligent DY Tnepemc
&7) Quest
58) A Tes B Seanch
B) (VII-awer | C) Tral D) Deosuw
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Question Nos. 77 to B0
N Pl B Dininish | Four allematives are given for (he
QO toeake D) Random Idiom/Phrase undertined Choose the altemafive which
besl expresees the meanng of ihe idicm/Phrase and
it in the Answer Sheet
Question Nos 69 to 72 1) Have & finger in every pie
DreURINE - Jpitlinoes e wivei with blanks 1o be filled
Hin with ain apprRiae Word(s). Four allematives are A) obemeddiesome B o be quarmetsame
Sdpgediag B eau® quedion Choose the correct C) 1o be greedy B) w be efficient
e ',mhﬁummm it by blackening the
e » LN RO ‘( ‘m i w w
o o 78) The jury is out
LA M
- "M\ S A) The entire jury decides to  B) A jury member is alvsent.
“ 'm& .) chuldlens slay out of the
; D) child proveedings
C) No decision has been ‘O/ﬂ\nm has paken 4 ek
reached. hetw ]
R T L T em—— ihe ivy leaves fiam gy
e e aindl e Diaacives remaimed alinost bare
A) seiking B) sricken 79) She paid a flving visit 1o Mumbai o see her ailing fater:
O Smsied D) «rike A) a very long visit very sham vist
C) went by acroplane ) 3 surprise visit
T You e & decivion. The ball i in BOW
LA e B)_you garden P Toashe
| C)  youir couk YOur net . J)/tommm B) 1o chem
C) toremove D) o write down
TR) Weoan  right and wiong.
O Sdnguihbeteen  B) distinguished for Question Nos 81 1o 84
C) Eisuingaish fom D) distinguish by : The " and the last part of the
: are numbered 1 and 6 The rest of ihe
ig split into four parts and named
Question Nos.73 fo 76 QR & S These four parts are nat given in e oroper

- Read the sentence/passage and find aut which af
four combinations is correct. Then find the cormect

r and indicate # by blackening the approprate

: Fowr words are given in each guestion. out
e ol one word is correctly spelt Find the
Spelt word and mark your answer in the Answer

| in the Anawer Sheel
5 B 0 e
A) P 8) Puritanial G0 ki s rovion o o
C) Purrvaniccal By Puritanical R- and for raising the standard of living of the peaple
S- for economic development
- 6. has upset all the plans.
e b s g QPRS B) SRFQ
\LOF Plagianst D) Plagraist : AT
82) | What gives some persans
. Tt
. ' alter experiencing
A) Accomodation B) Acommodation B e oo o e e
. ; " precious loved one
€) Acomodation BY” Accommodation S- the power to fight on

\Ayamud-y?
w.\‘ m .) PSOR
) bewis ) eh | ) POSR D) SROP

LR R
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83) 1. A volcano is an opening or rupture in a planet's surface.
P- Erupting volcanoes can pose many hazards,
Q- This opening allows magma, ash and gases to escape
from below the surface.
R- Volcanic ash can be a threat to aircrafi,
S- Volcanoes are generally found where tectonic plates are
diverging or converging. '
6. Historically, so-called volcanic winters have caused

catastrophic famines.
\a@m)

A) RSPQ
C) QSPR D) SPQR

84) 1. Glorious tributes were paid
P- who, after fighting a battle with cancer, *
Q- the original superstar of Bollywood ,
R- passed away last month
S- to the legendary Rajesh Khanna,
6. at his residence in Mumbai.

A) QSPR B) SRPQ
C) SQRP SQPR
Question Nos.85 to 88

Directions : A sentence / a part of the sentence is
underlined. Below are given alternatives to the
underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement
is needed choose “No Improvement’.

85) He said, 'Let the show begins'

B) 'Let the show begin'
D) No improvement.

"Let's the show begin'
C) 'Let the show to begin'

prehistoric times.

\,k)/date back to

C) dating back to

B) date backs to
D) No improvement.

87) I'm really sorry but | haven't got much money myself.

B) [I'm really sorry but I not
have much money myself.

D) No improvement.

A) I'm really sorry [ have
: lesser money myself.
'm really sorry but | have
very few money myself.

B) Both of them are good, but this is the best of the two.

No improvement.
D) much better

) better ..
- good

Question Nos.89 to 92

tions : Out of the four alternatives, Choose the
vhich can be substituted for the given

entences and indicate it by blackening the
te circle in the Answer Sheet.

Scanned by CamScanner

86) The museum's collection includes artefacts dated back to

i
89) Intentional damage to arrest production

B) Sabotage

Sangfroid
) D) Nemesis

C) Modus operandi
90) [ntroductory part or lines to a discourse or play

B) Blurb
Prologue

/

A) Epilogue
C) Monologue

91) Acinema show held in the afternoon.

A) Premicre B) Entertainment
C) Matinee D) Play
92) A handsome man

A) Adonis B) Tycoon

C) Debonair D) Cavalier

Question Nos.93 to 96
Directions : Some parts of the sentences have errors
and some are correct. Find out which part of a sentence
has an error and blacken the circle corresponding to the
appropriate option. If a sentence is free from error,
blacken the circle corresponding to “No Error” option in
the Answer Sheet.

93) Whoever assumes his statement true is foolish.

Mtatement true

D) is foolish

A) Whoever assumes
C) No error

94) lodine deficiency is an easy
disorder to prevent.

A) No error B)

\,G)/is an easy and inexpensive D)

95) When the workers threatened to go on a strike, the mill
owner declared a lay off on his mill.

\)*)/de;clared a lay off on his

mill.
C) When the workers
threatened to

and inexpensive nutrient

nutrient disorder to
prevent
lodine deficiency

B) go on a strike, the mill
owner
D) No error

96) The people gathered at the funeral to pay respect.

B) No error
Mgeople gathered

Question Nos.97 to 98
Directions : A sentence has been given in
Active/Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice and mark your
answer in the Answer Sheet.

A) to pay respect.
C) at the funeral




97) Take the medicine.
A) The medicine must take Amedicine is to be

you. taken by you.
C) You are requested to take D) Let the medicine be taken.
the medicine. -

98) | cannot trust him any more.

A) He may not be trusted by He cannot be trusted by
me any more. me any more. .

C) He cannot trust by me any D) He could not be trusted by
more. ' me any more.

Question Nos.99 to 100
Directions : A sentence has been given in Direct/
Indirect. Out of the four alternatives suggested, select
the one which best expresses the same sentence in
Indirect/Direct and mark your answer in the Answer
Sheet.

99) The peon said to his officer, "Please forgive me".

A) The peon said to his B) The peon told his officer
officer that he should please forgive him.
forgive him.

C) The peon requested his Wn requested his
officer that he forgive officer to forgive him.
him.

brother told me that he would buy me a notepad the next

| My brother said tome, "I B) My brother said to me, "I
uy you a notepad will be buying you a
g ' notepad tomorrow."

other said tome, "I D) My brother "I am going to
‘buy you a notepad buy you a notepad

w." tomorrow."

Scanned by CamScanner




AV,

e

Part - 11l Quantitative Aptitude
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BERARAARD R b / Q,‘ 104) What is the ratio of expenditure on sports (o that on art upd
MR A de \‘)ﬂ: craft? .
T - 1 6 Wmmaﬂmtaﬁwmmﬁ
: IB\ A) ! B) 1:4
101) The radius of o hemispherical bow! is 6 cm. The capacity of 4:3 D) I:1

the bowl is:

(Take 11 = 22[7) b )«)7%(»6“

Wvﬁmﬁmﬁﬁm“mhnﬁ?’ﬁmﬁmg_

(e & 11 22[7) »
,\82

755

102) The greatest four digit number which is exactly divisible by
cach one of the numbers 12, 18, 21 and 28, i

R N B wad T wea o 12, 18,213 28 TAF

452,57 em?

& 453 omd B) 495.51 cm?
J4 CM°

D) 345.53 cm?

105) Which head has the maximum expenditure?
g M = Y ¥REaE P

A) Library T Sports / AFHRE
C) An & Craft Fa1 AR D) Science / A
BT

106) Which heads have the same amount of expenditure?

=7 ot F @ & T FAA 8-
‘)/(Jr}a-nd Science /

[

et F gotaar sy Gl q {)’—If'ﬂ'ﬂg A) Sports and Science
A) 9928 B) 9882 Y lv(r”’;q’ Fage IR Aa= e AR A
C) 9288 9828 V8621 ©) sisc and Library /R D) Science and Misc / Rrermet

6%

s

Question Nos.103 to 107
Y77 H&47 103 & 107 a5

Directions / fader: The pie chart shows how the school

funds is spent under different heads in a certain school.
Using the pie chart answer the questions.

8w gtz arE # gular a4r & fF vE o A RAfEe
M & s wwer Fr AfAE # FF T BB Fmar

& arz ¢ #7 9T FS FU 5 T 3ol &7

-

)4
VY

)
\

ART AND CRAFT] SPORTS
&l E' |53 . oA P
90° b
120*

g

o o
0/ leo (’,@L
: %
LIBRARY

IR EFET 3k ey

107) Which head uses 25°bc3fthe funds?
g ¥ o3 25% ME # @9 R R

ynym
Art and Craft / &aT 3R

R

A) wisc/ RfRw
’)f‘c) Library | eI
! \g
108) TF is a tower with F on the ground. The angle of elevation

c
b

of T from A is x? such that tan X% = 2/ 5 and AF= 200m. The

angle of elevation of T from a nearer point B is y° with
BF=80m. The value of y? is:

TFE AR FrsR Ry adTH
31T T 3H TR 0 & F tanx0=2/5 3k
AF=200m ] ¥ T g B & T &1 Iewragay w07 (0F
5% BF =80m & y° &7 & &=

A) 30°
C) 45°

B) 600
D) 750
i

109) There is 10% loss if an article is sold at T 270. Then the cost
price of the article is:

Ife oF IFG N T270 F AW Fwar & ar 10% A
gie el Bl A 3% I¥g T ane wgea i

A) 2270
C) T320

0

T300
D) %250

g

‘g'o\"
s

T

EERVIA N
e

o
C,Q y(\@ Y
A©

N

¢
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110) A student goes to school at the rate of 21/ 2 Km/hr and
reaches 6 minutes late. If he travels at the speed of 3 Km/hr
he is 10 minutes early. What is the distance to the school?

e faeandt 21/2 ofY der @ afy ¥ wwer S ¥

AW 6 e Ao ¥ T/ T8 ¢ AR ag 3 fHe
of g7 & 7y F I AT & A 10 AT g5

A T8 ST B T A Qe @2

B) 4 Km / fraY
D) 314 Km / foty

A) | Km/RRAY
C) 31/2 Km/fHe

111) 50% of a number when added to 50 is equal to the number.
The number is:

R TEAT F 50% F S0 H A W ag 34 g8l

¥ ST A ST §| TE EEAT &
A) 50 \A

g} 15 D) 150 Lo

Question Nos.112 to 115
T FEAT 112 § 115 TF

Directions / fad¥r The following table shows the world

production of steel in 1920 -1927. Study the table and
answer the question.

Brafaf@a aifaer # @ # Tard #71 3c9e eiar
7T & 1920 -1927 &% | AT FT JETTT F IHN

1920 | 1921 | 1922 | 1923 | 1924 | 1925 | 1926 | 1927

71.30/43.51|67.6676.23177.23|88.93|91.75|100.17

7 m&oumou (In Million Tons)
- Seuiea (fifere et )

76.23 77.23

(=

()

100.17 |
sags LD ‘

—

67.66

|

|

|

¢ |
|

1 1922 1923 1524 1926 1926 1927
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112) The number of years during which the company has its
production less than the average production during 1920 -
1927 is approximately:

3o asf A HEAT FI freah ¥ e @i wEe
1 Jeareel av 1920 - 1927 & Hwd et & FH

A) 2 \_,8(
C) 6 D) 3
113) The difference of the production of steel in the year 1923

and 1924 is x% of 1927, Then the value of x s
approximately:

a§ 1923 3R 1924 F I F IR HT HAT 1927
FT x% & x @ AT T e g-

« . B) 001

o6\
D) | \

\6v

@

1
C) 0l

114) The average production of steel 1s:

gTaTd &1 A e 8-

W

\\ W -
S
' - O
77.10 B) 76.09 ‘
C) 74.07 D) 75.13
115) The ratio of production of steel in the year 1924 and 1925 to
that of 1923 and 1927 is: '
a¥ 1924 3R 1925 & IEAA F I F ¥ 1923
31927 F Ieureed ¥ HeFurd Fhier 87
A) 2205:2077 B) 2205 :2007
C) 2005:2077 2077 : 2205
116) If sin © + cos © =2 sin (90° — ©) then cot © is equal to:

T 3
A) o
C) 2+

117 :
) The sum of the perfect squares between 120 and 300 1s:

120 3 300 & dfrer & qob it FT AT &

8 go ol
el 2 T
oy % 169 ~ 23

e
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118) D and E are mid-points of sides AB and AC respectively of

;l(m A ABC. Aline drawn from A meets BC at H and DE.at

AK : KH =27
D3R E, AABC & 83T AB M AC & wwer mLa
g ¥ A & @ 1 ow Yar 4 our pe

T DE ¥ fAweh
AK : KH =7 v
el B) I:2
C) 1:3 D) 2:1 ?7 \
© v
119) The value of the following is:
Prfafla &1 a3 L
g:si.n47° \lf 3 cos430\'l2 2 .00
5 - 7| —4dcos”45
lcosd3” | | sind7 J W W,
0 B)1 0 'L, -V
c) -1 D) 1 .
&

120) A hemisphere and a cone have equal bases. If their heights
are also equal, then the ratio of their curved surfaces will be:

TS MY AR AT F A YR B I IAE
'ﬁléaﬂmm%a‘rmaﬁwmmm;

A) 1: 2 B) 5.1 BT WP

£) 12 Dy 2]

121) On what sum of money will the difference between simple
interest and compound interest for 2 years at 5% per annum

be equal to T 63?
Byl TR 9T 5% Ui a¥ A W a A &

mmmmmﬁmmzm%
aET gren?

A) 324,600
325,200

]
!
|
i
§

B) %25.500
D) Z24.800

In a business A and C invested amounts in the ratio 2 : 1,
whereas A and B invested amounts in the ratio 3 : 2. If their
annual profit be T 157300, then B's share in the profit is:

& SR & AR C ¥ 2:1 & Igod & 4
r #r Safe ANRB & 3:2 F g & ufer
ﬂuﬂaﬁﬁmﬂsmo%a‘rmﬁam

B) 48400
D) 36300
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120) 1f x+y~ 24, then the value of
} g )

: ¢
et y-a
of xvy=in 4
g+ 4 WMAAE
L
A O B |
C) -1 D) 2
124) (f 33 = 5,745, then the value of the following 1s

approximately:

afE (13 - 5745, # BrAfafa & wA anes e

0.5223

E)
) 2.035 D)

j

6.32

125) The base of a right prism is @ trapezium whose lengths of
two parallel sides are 10 cm and 6 em and distance between
them is § cm. If the height of the prism is 8 cm, its volume

187

% wa rew w7 e ve PhfeEs 2 EEE 2
wATaT aredt #1 FFAE 10cm AT 6em B I FF
AP s AR STEESm B

T WGAA T~
B) 330 om®
320 cm®

A) 300.5 cm®
C) 300 cm?®

126) lf" p* - ¢ =(p— q) {(p— 9 — xpq}, then find the value of

X 18:

W pP-=p-q lp-9F—xpq} T x T A=
.
A) 3
C) -

B) 3
D) |

127) AB and AC are tangents 10 a circle with centre O. A is the
external point of the circle. The line AO intersect the chord
BC at D. The measure of the ZBDO is:

AB IR AC U& ra &1 =99 | 2, 388 0 3=
# &z 2IA Ta # a0 @z Ao IWBCH
D 9 #Fed 214£BDO # AT 2- ’

A) 90° B) 75° A
C) 45° D) 608 }\ ﬁ/
<] o i
0 Ao
diad A2y



128) If A.B.C are the angles of a A ABC then following is equal [133) A pipe can fill a tank in 24 hrs. Due to a leakage in the

o bottom, it is filled in 36 hrs. If the tank is half full, how
: h time will the leak take to empty the tank?
ABC AABC¥ ®17 ¥ & P Rewd e S
R 3 T G139 UF 5 B 24 62 F 57 wEar B aa A
TR - R & FWOT TF 36 9 & s3ar 3| afz FF
_(B-C) w1 33 ¢ A 38 RwE ¥ & o www & @
Sm'\ 2 ) gram?
A:ﬁ B) sec_[% A) 36 hrs/ T B) 72 hrs | 62
C) cosA D) sec A C) 24 hrs/EE D) 48 hrs /62

o

) . o ) difference between the greatest and the least four digit
129) The total discount on T 1860 due after a certain time at 3% is %) Thie daticen .

¥ 6. Find e tine afber whtich it it due: numbers.that begins with 3 and ends with 5 is: N
Rl AR T8 ¥ 915 21860 W 5% W Reey 3 ¥ ARHA g arell AR5 F FATAT @ arelr 4 3t
T F9 T2 260 ¥ A W F IF o S @A # Hgean AR Fgcad F &g 7 3 B
& T Faeie A) 909 990
C) 900 D) 999
A) 8 months / ERES B) 7 months/ P E
€) 9 months/ 7@ D) 10 months / FE 135) An epidemic broke out in a village in which 5% of the

population died. Of the remaining, 20% fled out of panic. If
the present population is 4653, then the population of the

130) A man buys a TV priced at ¥ 16000. He pays T 4000 at once village originally was:
and the rest after 15 months on which he is charged a simple U& 79 & AgAN $el S58@d 5% IS5 a1 9 a3
mterest at the rate of 12% per year. The total amount he pays ] '
for the TV is: B S AW F F 20% FETHa & T HE A I
U& egfed T 16000 ¥ HAT Iem v .8 @lear TAAT FAEET 4655 & a g H ToET

& 98 T4000 A & T ¥ 3R AN 15 HAEAT F A€ FAEET Faar 9
ol & 98 W 389 12% 9faa¥ $r e & Furer A) 612
s T S ¥ 9F A & e g e o | ©)

o

B) 6000
995 D) 35953

W
w

136) Simon purchased a bicycle for ¥ 6810. He had paid a VAT
‘ B) ¥17.200 of 13.5%. The list price of the bicycle was:

D) 16,800 HEAA & T AEfFa T6810 F @A IHY 13.5%, fg%,/

3T e T e & g@er fug g <
eif 2>+ b’ +c2=ab+bc+ca, i fqﬂ’
. A) Z6000 B) 6696.50 é
C) 26140 D) 5970.50 0.4
9
137) Let ABC be an equilateral triangle and AD perpendicular to L ‘{S'
BC. Then g
AB2 +B(C2+CA2=? %
mﬁﬁ:wcwmﬁﬁapgmm BC a:a
d9 g ar
AB? + BC2+CA2=9
A) 3AD? B) sap2
- Sk o8 200
k '; ° €\0
O%% 6

g gD S 28

a0 et
s £y il
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138) The ratio of two numbers is 3 : 4 and their LCM is 120. The
sum of numbers is:

a’rdwaﬁwa*awmyc;%mmm
ARG 120 ¥| 37 S & anr -

A) 105 @ 70

C) 35 D) 140

139) The value of the following is:
fArfaf@a & A -
(tan 20%2 + (cot 20902 + 2tan 15°. tan 450 tan 75°

(cosec 70%2  (sec 700y
A) 3 B) 4

140) The mean high temperature of the first four days of a week is
25%¢ whereas the mean of the last four days is 25.5%¢c. If the

mean of the whole week is 25.2° ¢ then the temperature of
the 4" day is:

U §odE & 95l IR et & 3ied 3w amaAe
25%¢ & Safd ifaw ar feat & sitwa 25.50¢ &) ofr
W ACATE 7 AT 25.20¢ ¥ MY R &7 anowe
a

A) 2550¢
E) 25%¢

B) 25.20¢
D) 25.6%¢

141) A shop of electronic goods is closed on Monday. The
average sales per day for remaining six days of a week is ¥
15640 and the average sale of Tuesday to Saturday is ¥
14124. The sales on Sunday is:

ST WHA $ UF gFe BAAN F dg @ B
g & AV 6 AT HT HFaT Fiafea fashr T 15640
¥ 3R Forear F Afar 1 s fadhr 214124 )

. ER &

B) 20188
D) Data inadequate /

g HyATT

% fag §) 3@ LPOA=120°F & £PBO=?
B) 120°

L

143) A train passes an electrical pole in 20 seconds and passes a
platform 250m long in 45 seconds, Find the length of the

{rain:

wa YOI U fasel & wer & A @ 20 AdE A
th 250m S CATHIA W 45 AHE A
apartely B| Yeamdy £y darg ana w12

: 250m
C) 400m

B) 200m
D) 300m

144) The difference between simple interest and the true discount
on T 2400 due 4 years hence at 5% per annum simple
interest is:

5% wfday & @ruRoT egrsr 9T Ha & 4 asf 7 T T
2400 & HYROT &4TT T arEdfad @e H HaT g-

A) T80
C) T70

B) %30
D) %50

145) A and B can do a piece of work in 15 days. B and C can do
the same work in 10 days and A and C can do the same in 12
days. Time taken by A,B and C together to do the job is:

AIRB UF T F 15 RaAt & & @ &) B3R C
38 F1F Fr 10 fEAt # 3 AR ¢ 3 w2
At # FX FFa 8] 39 F1F # A,B IR C Beax

ﬁmﬁm#m?\/
A) 5 days / f&e1 ) 4 days / &t

) 8 days / f&=1 D) 9 days / &1

146) The number of pair of positive integers whose sum is 99 and
HCF is 9 is:

UATcHS qUIhT & OF ZIAT 1 TEar o aver 99 (
¢ 3R Agcan FAMEAF 9 -

A) 4 B) 2 )
C) 5 D) 3 '/E

147) Each side of a cube is decreased by 25%. Find the ratio of
the volumes of the original cube and the resulting cube.

T O & GEE TR H 25% wer R S ¥ Ae
u AR 9RO o & e w1 e W

B

A) 64:1
C) 2764

Q 6H

R Q_, “o

ybz q384° ([f%’o)+o‘7\‘5'f'45f*’""“”’7
b 67/(3 s : D(?
'S' //'q/{) *Q Q'M' /
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48) What is the position of the circumcentre of an obtuse-angled ] 9/9/

triangle? //’/
v WO e & aRden 1 safeufy Far 32 ’

A) Itisthe mid pointofthe  B) Itis the vertex opposite to

JO
largest side. / I8 HEH the largest side. / Tg . &
T aRd 1 7y f§g I §3 uned &

4 Rgdia o 3 b G O
C) It lies outside the triangle. D) It lies inside the triangle. / }‘9 \'\% '
/TE TS & A A TE NS F 3w g

¥ ¥ *

149) A circle touches the four sides of a quadrilateral ABCD.
The value of ( AB + CD ) is equal to:
CB + DA

U ged TGS ABCD & IR S[oN3T &1 ToF ey
3

(AB+CD) & A fhgeh avrey &2
CB + DA

A) 1 B)
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Part - IV: General Awareness

ST - AV AT sty

ERRRRACR R AR

Part - IV: General Awareness
ST - V: STy st

151) National Renewal Fund (NRF) was instituted for the purpose
of?

TR J AR (v 3w o) R waae &

TRE f 1 9
A) Social security / AT Restructuring and
: modernisation of
T

industries. / S T
gafsRior vd
myfREET|

D) Providing pension for
retiring employees. /

Jafaga FHAaRA &
N

C) Rural reconstruction

ATHT geETARY|

152) The Indian, who won the Grammy Award 2015 in the new
age album category is:

= TF ToIH AR 7 By AR S B g R

2015 Shar?
A) Singer Kavita \Ausician A.R. Rehman /

Krishnamurthy / 3T FET U 3R, @A

FHiaar FT Ja
B) Musician Ricky Kej /
Fias & &9

D) Author Neela Vaswani /
AGH AT FrHAE

The serious environmental degradation of Maldives is
_considered to be essentially due to:

AeE & TR T AR sfera:

S FROT AT FAT 87
) High population density ‘_Hl/nd'ustrial pollution of
water and air / ST 3K

jﬂmﬁwm
T F @
ST

;h'eoptionsfm D) Co'nstant soil erosion /
Fywg N W
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154) Soilless agriculture refers to:

A) nter- cropping / derer B) Sericulture / TH Iearesy

Hydroponics / STef gatyey D) Hygroponics / HT&aT

aae

155) Which of the following
change in air temperature?

ag & AT F oRadT F ead F atag &
q 81 QU7 g grar &7

A) Amplitude / Rrear \;,)/Frequency | Hqfea
C) Intensity / Srgar Wavelength / e

186) In which year was the first world environment day
observed?

WA v qatever Rew e a§ A= amar ar

A) 1974 v{) 1980

C) 1973 D) 1972

property of sound is affected by

157) First human heart transplant was performed in:

JUH AAT &I FT TAR9oT fomg ay¥ f&ar amar ar?
A) 1955 B) 1959

Sr9n D) 1967

158) Who was Akbar's famous revenue minister?

ey H YTAE Tored #7 FiA A1
‘M/T()darmal | SHA B) Tansen / ae
C) Rana Pratap singh / IO D) Humayun / gATE,
gam foE

159) Which one of the following wood is used in making cricket
bats?

¥ ¥ god W & v wfafaa # ¥ 5
gy 1 ST R S &7

A) (Cedrus deodara/ LEL: B) Morus alba / AR TeaT

\m/::iszwpufea | &

AT

D) Linum usitatissimum /

foreTer gEefeaeAA




]

160) Who is the founder of the concept "Sarvodaya”?
"gafed” Y FEUROT & FEugE w07

A) K G Mushroowala / &, B) Mahatma Gandhi / ABTeHT

. HUwATAT amefy
<1 Vinobha Bhave / Rsitar  P) jai prakash Narayan / Y
EIC T AT

161) Phycology is the study of:
dara A= e g &2

A) Lichens / STgdet
€) Bacteria/ Sharog

B) Fungi/FaF
Algae / $Yarer

162) The common name of sodium bicarbonate is:
BIfSTH a1z FElae &1 AT A7 F7471 2

B) Soda ash / @ Ter
DV Baking soda / afeT @

A) Soda lime / BYET FTEH
w ©) Baking powder / ¥f&ar
q13s3y

163) Red Data Book' provides an account of?
3T 3T IF A frger Raver ar mar 22

B) Endangered plants only /
had HFCUeo ey

A) Fossil plants / Sfrared

qrey
C) Extinct animals only / Endangered plants and
&ae fadea sfla-3ig animals / §heTded 919

IR ha-sig

) Who among the following rulers abolished Jaziya?

frfaf@a & @ &g args o Jferar gared f&Har

an
| Mbar/m

D) Aurangzeb / HersE

Balban / gelda
an 'r/GTB'i"JfR'

ctive principles incorporated in the Indian

have been inspired by the constitution of:

= # A Afafders fed fFas

B) Ireland / mn'é?
D) ysa/3m@RET

166) When number of wm-s m a coil ig trippled, without any
change in the length of coil, its self inductance becomes?

wa fody FFA A FUBA B wwar gk £y cars &
76 oftads v & h &0 & et 8 3y g
g S 27

JAY i
one-third / vs-faegTé

C) sixtimes/ B TAT

B)
D)

nine times / At AT
three times / ey AT

167) Who was the first Indian 10 become member of British

Parliament?
ag guR FAAE FA o1 F Few sug a5 gey
ga17
Surendranath Banerjee/  B) py yu s oo
BregATd @A arar
C) Firozshah Mehta / D) p. f)adabhai Naoroji / 3.
firsremg Agal

AR R
168) Which was the first talkie film made in India?
ARE # g1 YA ada aral oA Sia O o0

A) Kisan Kanya / frama
il

B) Raja Harishchandra / /ST
gy
C) Mother India / 7ex =f2ar, PLAKlam Ara/ 3 3T

169) How many states are there in the Indian Union?

ARA Y A fFaa 57 22

A 29 -

C) 27 D)

8
0

W o

170) The instrument used to measure pressure:
T & A F v vy g Fr wder M s $2
\})_/Aneroid Barometer / B)
% Hygrometer / BTSN
TR diey '
g C)
Anemometer / TfNAERN T D) Thermometer / RTHRT

v

171) Which of the fol)
times per second?

FIRRE & & B A @y oy aes 7 A A

owing memories must be refreshed many

TNET T W
\?/EPROM B) ROM
) Dyanamic RAMm D) Static RAM

Scanned by CamScanner




172) Which one of the following is odd?

F=fla & & Rww &= ¥

\A)/SNMP

B) SMTP
C) IMAP

D) POP

173) Who invented the Safety razor? h

AR TR 1 s ﬁ?ﬂj??
A) Steve Cher / &9 a1 B Gillette / fSore

c 4 " s
) Lar Strauss / ¥R & D) Steve Job / ¥a T

174) Barter transactions means:

[RTHT HewagR w1 war 3 ¥
Goods are exchanged with B) Goods are exchanged with

goods. a@ﬁaﬁr gold. / TEg3T FT
Rfemy st & a fafes @ & any
rar Srar TR e

C) Coins are exchanged for D) Money acts as a medium

goods. / TEIIT F T of exchange. / #gT
Rt & fafawg fFr Rfvww & aeaw &

ST B T H FF AT B

175) The gas that causes suffocation and death when coal or coke
is burnt in a closed room is:

9 5! a¢ FAY A PIIAT AT ST & FieT @
b di-oxide / e B) Methane / #13a

\p,/Carbon monoxide / FTeeT

HiAT HFaEs

§. President announced the "New Deal" for
recovery in the aftermath of the Great Depressiop?

WWWW*@F
$r arvor feE ANEr aeeufa & &

B) Benjamin Franklin /

TR ShehforeT
D) Roosevelt / F5dee
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177) The intensity ratio of waves is 25 : 9, What is the ratio of
their amplitudes?

e &1 AT Harg 2509 B 3w fAEaw #
HAUTd FT g

£18
813

A) B) 25:9

D) 3:5

178) The Industrial Development Bank of India was set up in:

HdrT e e dF & ®9ar s oS

o§?
A July / FaT, 1966 v:))/uy/smé, 1964
C) July/ s, 1962 July / TS, 1968

179) Who wrote the famous novel 'The Guide' ?

9T 3u=arg 'g ass’ fRaa foa@r ar?

\)‘)ﬁ Chetan Bhagat / ¥ceT B) Satyajit Ray / cdtatd I
g
C) RK Narayan/3R. %. D) Arundhati Roy / 3rerly
ARTIOT T

180) Name the first Asian country to Orbit Mars.
Harel 1 ARHAT FET F T T guH7 vRS o

FaEw?

T
\}*é:m

C) Pakistan / 9TferEdT=y

B) China/ e
D) Japan / ST

181) More than 50% of the world's coal deposits are held by:
faea e s7ER &1 gr 50% rad g &2

China, India and USA / B) USA, Russia and China /
A, 9Rd 3R 3@ IARET w0 3R A
C) China, India and Russia / D) India, Russia and USA /

e, R AR ® AR, T 3R 38T

182) The total utility from 9 units of commodity x is 20 and from
10 units is 15. Calculate the marginal utility from 10" ynit.

TG x A 9 FAT F FoT 3w 20 ¥ 3R 10
It @ 15 & 1047 AT F AT 3w @
gfeeret AT

o>

B) 05
D) 0.5




183 Dry e = dhe wild fem of
FEaSsSEmEaEwD

AN Carten fi-muie S g Ay

ols
TT FESET ,
= Nirper  ASC e ‘-,/‘uu'u;— e

134 Fhen vas e s wegam sen m Inde’

-~
N i == 3D A jubhy WS 14, 2013
= I — =~ S W 5 - D Aupust  FARA 12013

188 Whncy fwwor s mecsean for the developmem of democratic

SIS
S U3 F 5T 3 BT SST s s
e
A S0 meitnrs =onmom Raspect for mdniadual
(=3 s DY) Soone milnary forces

| FE ==

e e pesor EsnomEed wih the comme of the term

-
=

W W TEs E T SO & o S5

D*Johmmmm

dinf fe comespe of Earth hour began?

&=, 2007 &, Rs,
3"@5;“\

Bae. D) in Mex. 2009 in Colombo,
S Lanke

FE 2000 F, Fee
e =
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188) If there is one million Mg® ions in MgCl,, how many
chlonde 1ons are there?

ofr MgCle # & BAf@TA My sy § @ sah
FenTeE A ¢

A) Ten million / T/ Half a million / 31y

fafaaa
=) Two million /&Y fATTa D) One million / U
fafaaa

189) Which day is observed as World AIDS Day?
&g &= favg vsw @y #amar Aer 27

A) Margk 15/ 1 AT
%ber 15t/ ] fegey

190) What is 'Talcher' important for?

e s Qv Agagt &2

Hydro-cloctricity B) Heavy water plant / 313
generation / I fagga »
- ) ool 397

\P’ Atomic reactor / T2fA® D) Cable industry / Faa

Rt Jegnr

B) December 201/ 20 frwar
D) March 20"/ 20 AT

A)

181) World's largest producer of coffee?

o7 5 7@ 531 1O 3qes I FT-a1 872
A) Argentina / ST ) Peru /9%
©) India / RT D) Brazil / @Tofter

e ;he dea of parliamentary form of government is adapted
om: »

FER F T T 7 R g @ v w27
A) ireland / 3z

?’/tfs‘amﬁw

B) USSR/ &H
D) Uk, faem

e



e VL M JTTETS

193) 'Cloud burst means
FCHT BEA FT FAT ot e?

A) Sowing of seeds of a cro
in cloudy weather.

AureoIiT Atww

Abnormally heavy
downpour of rain,
associated with a

) thunderstorm.
A & St F7 aram|
Y GO & [Ty
HETUROT &7 F 78y
ERESIGI
C) Presence of Scattered D) Formation of artificial
flakes of cloud in the sky. rain.
I A aTett & gy PR awT &1 Bt
U SHST AT Aty

194) The battle of Plassey was fought between :

SO A TS ud A TS A
A) None of the options B) Mir Jafar and Robert
R e et # 3 Clive.
= =5 AR Fo 3R WaE
C) Mir Khasim and Robert | By Sirajudduala and Robert
Clive. Clive.
AR FR7 3k e fAuaster 3k wae
Fellga Fellsq

95) RBI's deadline to exchange pre 2005 currency notes of Z 500
and T 1000 is:

% 500 3R T 1000 & 2005 ¥ Uga & HH A FEoF
& 5T Red &% & A Ty g e

January 1, 2015 B) March 31,2015

- Sfedd, 2015 31 AT, 2015
ber31,2015 D) April 1, 2015
: 1 3%, 2015

zdmayne, won the Oscar (2015) for Best Actor for

2 fFE fed & AU ga9ss 3BT &1
5)3m‘11?

W warz® B) The Theory of Everything
/g 3T waiar
s/fer D) Birdman / ¥$87
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197) Which one of the following is not coal variety?
i@ & & S w109 By ER
87

A) peat/ e \_Mmire. SatATST
C) Lignite / fase D) Bituminous / gt

198) How many Nobel Prize awards are awarded each year?
ey et Aee seer [ e fe &7

A) 10 B) 8
C) 6 D) 5

199) The non-cooperation movement was called off due to?
HEEANT HEToTT & fhads HROT ®fAg ¥ a7
gr?

A) Jallian walla Bagh
Tragedy
Siferar arar T IrEdy
C) Poona pact

AT AT

ﬁ) Chauri Chaura Incident
IR IhT gear

D) Gandhi- Irwin pact

eh sfdq gasiar

200) A bullet of mass 'm' and velocity 'a' is fired in to a large

block of wood of mass 'M'. The final velocity of the system
is:

GTAA 'm' HR AT 2 A v M gemAT M
TR F 3 solih A qel S ¥ Reew F7 3wy
AT F4T grem?

A) m+M a B) _M g
M m-+M

C) m+M a D) a
m m+ M



